DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)
DIVISION

Name:

Time: Score:

181) —327.84 -6 =

182) 195.3 +0.6 =

183 —(.05394 < 0.002 =

189 5.2136 <+ 0.08 =

185 1.0665 = 0.009 =

186) —13857 -3 =

187 —2.815 + 0.001 =

188) —45.18 =+ 1 =

159 (0.11397 =+ 0.03 =

190 0.09393 + 0.001 =

vy 6.931 +0.001 =

192) 1.3797 = 0.009 =

193) —=2116 + 1 =

194 43694 =7 =

195) H3.32 =8 =

Mathematics: Division - Level 6 - Horizontal - Set 4

196)

197)
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199)
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208)
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210)

0.056988 = 0.009 =

1623.9 + 3 =

—0.4454 = 0.01 =

88.34 +2 =

32.394 + 06 =

—351.76 +4 =

0.6258 < 0.02 =

23418 +9 =

0.15333 =+ 0.003 =

0.9865 + 0.005 =

—5809.8 = 0.6 =

—0.04231 = 0.01 =

35.664 + 0.04 =

2.264 -4 =

—18.99 +1 =
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